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running 8o chains at any course from 1 to 6o minultes.

A "MINUTES Lxs. | MINUTES *LKS. MINUTES ILxs.
T e 2y BrLaF. XL 49 7.5 Rl 9524
B 424 3 e e 511 42 98
R b e QR ..53% 43, iR 100%4
S A 9y P B S R 56 7.7 WS 10224
| RGN 1124 BRI v 5814 45 % 105

BT S e 14 OS5 el 6024 46 ik s 107Y

P 16Y oA M 63 AT e 10923

(e e 1824 G ML e S 6514 48. . 112

75 e R 21 PO - Al 67/ A see il 114
R e 234 BORAT T liw ok 50. 11624
115 R 2524 0 s R 72/ 5I 119
B2 5 QB TS 74% B2 s i 121Y%
3 o o6 o 304 o S 77 L., PO A 123%;
i g, 32% v A 79Y% L LG 1 126
o S 5 SRR 8124 Sl < el o 128Y;
Ehvo, N0 37Y G A Y 84 505 s e 130%
AR 39%; LR 86y A 133
g8 ... ... 42 .. 88/ T e 135%
R L 44 L 59.. 137%
L T 46%; £ A 93% 60, 140

-~

TABLE FOR RUNNING ON SLOPES.

In the falInM IlGeRQsEJIJ&ME D angle, the second the

number of links to be added to a chain on the slopes, to make one

chain, horizontal measurement
if

j8

4

CoR. CoRr. CoR. CoRr.
Avgle Lxxrfxs otk ngqxs Asgle invNKs higle Llivr;{s
o o o o
4 0.24 II 1.88 18 5.14 25 10.54
5 0.38 12 2.24 19 5.76 26 11.26
6 0.55 13 2.63 20 6.42 27 12.24
7 0.76 14 3.06 21 7 TE 28 | 13.37
8 0.98 15 3.53 22 7-85 29 | I4.34
9 1.24 16 4.02 23 8.64 30 | 15.47
1o I.55 17 4.56 24 9.47 35 | 22.07
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